my

o3 2" o] 2]52] Zoj7t 30 91 ¢
O oA ABLCM,CM =6 ¢ uj], @ AB

o ol

O 12 @ 16 @24 @ 34 ® 36

S5 ~
OB=150M=9°|2&

AOBM ©|A BM = V152 - 92 = 12
BM=AMO|E2 AB=2x12=24
o|ct.




@ 7em @ 7V3cm 3®)8cm
@ 8+3cm ® 9cm

D ~
AOAM o4 OA2 = AM2 + OM2 °|E2
52 = 42 4 OM
OM = 3cm (- OM > 0)
~MN=0OM+ON =3+5=8(cm)




oS oA 5.0ptAB = 20| Zo

pa
7} 16cm ¢ Q2] dHoltl AB = 8cm A/—FI\B
o)1 OB o] 9ol 28] F4-8 A4 D
o, CD 9] Zdo]&?

@]

@ (2- V2)em @ (25 -4)cm ® 3cm
@(8—4«@)cm ® (6+2V3)em

S8 ~
Qo) £4€ 0 2 o} A0 — .
8cm
AB =8cm ©]EZ AD = 4cm
DO = V82 - 42 = 43(cm)
~CD=(8-4V3)cm




47047k AOM oA 12




